Ne ApTukyn

HanmeHoBaHue

Kon-Bo

BuHT ST6.3%x25

N

792-711-002

[anka M8

792-711-003

Pyuka pednekropa

Kosbipek fednekTopa

792-711-007

lanKa-b6apallek

—_ | =(0

1
2
3
6 | 792-711-006
7
9

792-711-009

bont M8x25

—_
o

10 [792-711-010

Hednektop

BuHT

KorKyx BepxHuin

BuHT ST6.3x19

Lllanba

15 |792-711-015

[Mpy>KnHa

16 [792-711-016

KonTtuo pednektopa

17 1792-711-017

OcHoBaHVe fednekTopa

RS PRI FENS I ST [ O] Y RN

BuHT ST8X16

N
w

CHEIo0YBOPLUWK
BEH3VHOBbIN

Mopenb

ST3546

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




Ne ApTukyn HanmeHoBaHune Kon-Bo

Pbluar Bkn. WWHEKa 1

4
5 Pyuyka BepxHsas
8 lanka M8

19 Lllanba

44 LLlan6a 10

55 Pyuka HUXHAA

64 |792-711-064 | KpOHLWTENH TPOCKKA

65 [anka M10

66 bont M10x45

67 |792-711-067 | Tpocuk cuenneHms

12 70 [792-711-070 | MnacTnHa perynmpoBoYHas

71 [792-711-071 | KOXKyX MPY>UHbI

72 [792-711-072 | MMpyxunHa

Nl=|a|=m =N |=]=]o ==

73 Bont M8x40

CHEMoybOPLLUMK Mogerib

BEH3HOBbII ST3546

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 2




Ne ApTukyn HanmeHoBaHune Kon-Bo
2 |792-711-002 | Nanka M8 9
9 |792-711-009 | bont M8x25 10
11 BuHT 7
18 Kopnyc aekv npasbiv 1
20 6203-Z7 MogwmnnHuk 6203 2
21 |1792-711-021 | Ban wHeka 1
22 lanka M6 9
23 lanka M6 2
25 [792-711-025 | Hox wHeka 2
26 |792-711-026 | Kopnyc nogwmnnHuka 2
27 LLlan6a 8 4
28 bont M6Xx25 4
29 [792-711-029 | lNMnacTnHa [EKN HVXKHAA 1
30 bont M8x25 4
40 Llan6a 8 5
59 Ban ponuka 1
60 |792-711-060 | Ponuk 1
61 |792-711-061 | BTynka ponunka 1
62 Kopnyc aekn BepxHUn 1
63 bont M6Xx16 4
74 BuHT ST8x16 23
76 lanka M6 3
78 bont M6X16 1
CHEMoyeOPLLUNK Mopene
BEH3NHOBbLIN ST3546
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 3




ApTukyn

HanmeHoBaHue

Kon-Bo

[anka M8

(o))

BuHT

lanka M6

lanka M6

bont M6X20

792-711-031

Kopnyc aeku neBsbin

792-711-032

PemeHb

792-711-033

LLIKvB BegoMbIi

LLlar6a 6

BuHT STM6X40

792-711-036

KpblliKa oeku

792-711-037

LLinoHKa 6,5x4x15 (nonykpyrnas)

BuHT ST M5x12

Bont M8x20

Lllarn6a 8

792-711-041

LLIkne Begywmmn

792-711-042

LLInoHKa 5x5x18

792-711-043

MNpyKunHa

792-711-045

KpoHwWwTenH ponvka

792-711-046

Ponvik HaTaxuTena

792-711-047

Brynka ponvka

bont M8x55

LLlarba 6

BuHT ST6.3x16

[MnacTtnHa

792-711-052

BTynka Koneca

792-711-053

Koneco

Oeuratenb 154FP (nog WwWnoHKy)

792-711-056

Larn6a 14

792-711-057

Larnb6a 14

792-711-058

3arnyLwka

bont M6x35

792-711-079

Ocb konec

JY Y N 1 11 S ==Y O I NS) ) NG PR [P [P [P NG DI I DG ) ) (RS [V PRIRS PP [ NG') [P RS U B JPG [ NSY RV I DN

CHEIo0YBOPLUWK
BEH3VHOBbIN

Mopenb

ST3546

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




	ST3546-1
	ST3546-2
	ST3546-3
	ST3546-4

